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1.  The third layer of the OSI model is

(A) network layer (B) physical layer

(C) data link layer (D) presentation layer

OSI iget i fiedt T 2

(A) Tah e (B) Hifdeher e (C) 221 foish @it (D) US=es oIl

2. Which of the follo
(A) Keyboard
fadasHaars
(A) -9

3.  World Wide Web is uﬁented by
(A) Tom Berners- Le@” ima Berners-Lee

Internet ?
(D) Search Engine

is not a term pertaining

(D) & &M

(A) THed-efi (B) ﬁwaﬁé—?ﬁ % Sg-ofl (D) TIH SHE -l

4.  Which of the following functions are not performed by.servers ?
(A) E-mail processing (B) Database sharing
(C) Storage (D) World processing

S et
A) é—ﬁaﬁ@fﬁnﬁfw agﬁ%hpr (D) e s

5.  What is the term for unsolicited E-mail ?
(A) Newsgroup (B) Usenet (C) Flaming (D) Spam
JaTfed $-Tet o foTu i o1 316g 8 2
(A) =F-T7  (B) Te (C) wAfEm (D) =
6.  Which operating mode of telnet is full duplex ?
(A) Default mode (B) Server mode (C) Line mode (D) None of these
T T ShiF | ST Hig qui g4 8 2
(A) EwieedE  (B) HALHIE (C) @rA™E (D) 3 Y I A
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Which of the following is not a type of HTML pages ?

(A) Static (B) Dynamic
%ﬂ; Dlrectory listing (D) Normal
H 8 M 1 HTML ehR 1 I8 78 & ?

(A) ®few (B) mﬁfﬁm (C) fetwed fafeem(D) ia

Code Red is a

(A) Virus (B) Worm (C) Software (D) All of these
FETE

(A) d1ETE (B) = (C) wieam (D) @

The common name for the crime of stealing password is
(A) spooling (B) hacking (C) spoofing (D) None of these
o 3TIUY I AH M 8

(A) wfer (B) &b (€) =fen (D) ¥ & g T

Logical multiplication refers to operation of

(A) OR gate (B) AND gate (C) NOT gate (D) Inverter gate
U TehEeh J=ITeT 1 Heiyd il g ?

(A) ORTE (B) ANDE  (C) NOTe (D) FERIE

The scrambling of code is known as

(A) encryption (B) a firewall
(C) password proofing (D) None of these
@’TW%’T ! fohg T | AT ST B ?

(A) T=ham (B) ®REEMA (C) trreaésgﬁn (D) 399§ IS &l

Which of the following circuits can be used as parallel to serial data
converter ?
1&.\1:1 Digital counter (B) Decoder g) Multiplexer (D) Adder

T 8 o i Gfehe HIE ST hradt o THIAL ITATT hl ST Fehll & 2

(A) Tfeasea (B) St (C) "ediwial (D) UL

Data can be changed from special code to temporal code by using

(A) Shift registers (B) Counters

QC) Comb1nat1ona1 circuits (D) A/D converters

fehEehT LT hieh Sel ﬁ@ﬁrﬂaaﬁgﬁmww%mmm% ?
(A) T thored (B) hIewed

(C) SIS Hiched (D) A/D &Haed

Compiler translates the source code to

(A) Machine code (B) Binary code

(C) Executable code (D) Both (A) and (B)
HTITS HIH IS T fhEH STIATE HLAT & ?

(A) w1 (B) wTEH *I8

(C) VoFoIeTd Sis (D) (A) 3T (B) gHI
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Which of the following functions is/are performed by the parser ?
(A) Shift (B) Reduce %C) Accept (D) All of these
o= 0 9 o w1 o e g foma S

(A) Tree (B) {sg® (C) THw (D) IE o
Management of software development is dependent upon

(A) People (B) Product (C) Process (D) All of these
HIFRI T Y YT 8

(A) <MW (B) 3dE W (C) gfsFmm (D) I |+

The first step in the software development life cycle is

(A) database design (B) graphical user interface
©) system deSIgl’l %D) requirement gathering & analysis
SICTTHE SfTer =I5 § H =T
(A) SeTad fesTEA (B) TThihd A §2Th Y
(C) Towen feamsa (D) Trerrrgre TRET SR foveryor
Which of the following is a step of physical design 1software design model ?
(A) Data design (B) Protess design
(C) User interface design (D). AlFéfithese
Arree fesied visa # f 1 9 i gublciea f&ams o1 =t g 2
(A) erel fesired (BY, W& fesime
(C) IR 3Tk Tt (D) IuTrer g
Root of class and object-oriented language is
(A) C++ (B) Javae, (C) Simula (D) None of these
& 3T FITE 3R AR YT 8 .
(A) C++ B) it (C) fomgem (D) ¥ | s &l
Whichdf the following is a C++ object ?
%_q cin (B) iostream (C) read (D) None of these
Y HGAT C++ el 8 ? '
A) = (B) WM (C) fE (D) 3T | HIg &I
Which of the following is a type of data structure ?
(A) Linear (B) Non-linear
%rc)y Both (A) and (B) (D) None of these
H Y i 1 ST §LEH1 1 TR B ?
(A) fEs . (B) 3Iitfae
(C) (A) 3R (B) S (D) & & T
Which data structure is needed to convert infix notation to postfix notation ?
(A) Branch (B) Queue (C) Tree (D) Stack

%ﬂ%ﬁﬂﬁtﬁﬁ ~Fie A1y | TUMARd i & ToTe 9 & 11 el 6
SEld & ?
(A) s (B) €) @ (D) &
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From which language the word ‘Computare’ is derived ?

(A) Latin (B) Greek (C) Roman (D) English
Tore ST | & ehTreIea STeg ST & ?
(A) oifed (B) = (C) THA (D) 3h
A computer system includes
(A) Hardware (B) Software
©) Perlpher%l dev1ce§ (D) All of these
PIFIEL JUTel o e .
(A) BTETH (B) HTHeRK
(C) Wit feamsfam (D) 3IWie gt
Which of the following devices is used in the first generation computer ?
(A) Integrated circuit (B) Processor
(C) Microprocessor (D) Vacuum tube

7= o 1A 1 3uhT, qEel T o HPRel H ST fohal ST & 2
(A) 3L Hlhe (B) WEE (C) HIEhIIEE (D) A o

Which of the following can be considered as portable computer ?

(A) Mini Computer (B) Mainframe Computer
(C) Desktop (D) None of these
T T TIeeTel I HHT STl & 2

(A) fFfi et (B) WA P (C) SEhed (D) 39 & %I &

Which of the following computer is used in the weather forecasting ?

(A) Notebook Computers (B) Tablet

(©) Mlcro Computers (D) Super Computers

1 0 | S W1 IR HIEH 1 Q@A i § FEd9Te {5 ST § 2

(A) WW (B) ste

(C) TR hPed (D) R e

Which of the following is not a part of the CPU ?

(A) Program unit (B) Control unit

(C) Storage unit (D) Arithmetic logic unit
| 9 %M |1 CPU 1 9T 781 3 ?

(A) S gfie (B) et gfe

(C) VRS IHe (D) 37HES AifTeh Ife

Microprocessors can be used to make

(A) Computers (B) Digital systems

(C) Calculators (D) All of these

HTSShISTETE ST IUANT Hleh ST T Hehdl &

(A) HEIH (B) fefveatforem (C) Sheageled (D) Iwiea @i
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All of the following are examples of input devices, except

(A) Scanner (B) Mouse (C) Keyboard (D) Printer
vt gqe feamss & 3grEw 2,
(A) THR (B) T=H (C) -1 (D) T2

How can we measure the speed of RAM ?

(A) Capac1ty a;%B) Bus Wldth (C) Busspeed (D) Both(B)and (C)
g9 RAM i Tilg :
(A) &ma (B) =@ fa@:v (C) waefe (D) (B)3R(C)gHi

Which is/are the computer memory that does not forget ?

(A) ROM (B) RAM (C) PROM (D) All of these
I8 hid E el Al B S e T R 2

(A) ROM (B) RAM (C) PROM (D) IWie ot
Which of the following memory storage is slow ?

(A) Cache memory (B) RAM

(C) Magnetic disc (D) Optical disc

= 9 % & ool 1 vero S g 2

(A) sl (B) RAM (C) T fgwp (D) 3T<iehae fsi=h

A character is represented in EBCDIC by
(A) one bit (B) four bits (C) eight bits (D) sixteen bits
EBCDIC H Ueh hidel fohtioh g HATeard fohdl ST & 7

(A) THde (B) WX (C) 3B+ (D) HieTe sie

Which of the following is necessary to work on a computer ?

(A) Compiler (B) Operating system
1%12[ Assembly (D) Interpreter
T W S FT HEE T HTH i o FoIT & B 2

(A) HHE (B) 3Afen forew (C) wEmaret (D) U

The process of writing computer instruction in a programming language is
known as

:A) Pr%;:gi?mg (B) Algo{r%t%rrﬁu% (©) C%d;%ga . (D) File

(A) TR (B) T&MffRE  (C) whifs (D) wIEd
‘COBOL’ is widely used in which applications ?

(A) Scientific (B) Commercial (C) Mathematical (D) Space
T TR § ‘COBOL’ ST &9 § S&HIS [T AT 8 2

(A) aFTH (B) iR (C) Tfrdi (D) i

Which of the following is pure object-oriented language ?
%I’C)[ (B) C++ (C) Java (D) All of these
T ¥ A H qUT 3fesrde MNTE ol & ?

(A) C (B) C++ (C) St (D) & @t
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44.
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46.

47.

A computer program which converts an entire program into machine
language is called a/an

(A) Interpreter (B) Compiler (C) Simulator (D) Changer

Teh R[S TIITH S YY1 FTUTH i T oites § TGN hidl &, 3H Pad &
(A) =X (B) ®HER (C) fampir (D) I=R

Linux 1s which type of software ?

(A) Shareware (B) Commercial (C) Proprietary (D) Open source
(Linux) T58 TR T TR & 2

(A) IERR (B) &ERREA  (C) Wl (D) Gendad

In MS-Windows, Date and time are available on the desktop at

(A) Keyboard (B) Taskbar  (C) My Computer(D) None of these

MS-Windows H T-RE 37 93 S5hcid T hal aidl & ? .

(A) Fi-=g (B) Tih SR (C) T H=X (D) 0 U HIE Tal

Which keyword in MS-Word is used to align the selected text to both the
left and right margin ? ]

MS-Word ® ShIF HT hi o8 risa U FIRR | TEd
& foqu s e ST e 9

(A) Cul+0O (B) 'ctrel #7 (D) Ctrl+K
Which of the following s;ﬂgt; availa acing in MS-Word ?

(A) Normal  (B) Loosely
=1 o | I |1 MS-Word

(A) e (B) i@ (D) forega

How many types of drawing objee ¢ available in drawing tool-bar in
MS-Excel ?

(A) 4 .. B R ()10 (D)_ None of these
MS-Excel H GIET et # e ehT & GIsh Sfisoierdd SITs & 7

(A) 4 (Bled's do it (€nddher !l (D) FHIARE T
Which menu in Excel has Function Library ?

(A) Insert ~(B) Formulas  (C) Tools (D) Data

Excel % Topd B # ®aRH ARSI 87

(A) T (B) ®WeE  (C) TH (D) =

Which of the following Excel charts represents only one value for each
variable ?

%‘g Function (B) Line (C) Pie (D) Bar
4 9 oI | Tl =1 Teioh = o fofU shelel Ueh 4ol AT3eerd ohidl & ?
(A) R (B) s (C) W (D) "”

Which of the following is not an example for Automatic text formatting in

MS-PowerPoint ?
(A) Fonttype _ (B)_Curves (C) Insertbullet (D) All of these

MS-PowerPoint # SHL BT & foeru g 4 9 s 91 Seew A8 © 7
(A) BRI (B) T (C) e (D) Fwaf
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In PowerPoint ‘Review’ provides the facility of
(A) Comment (B) Research (C) Thesaurus (D) All of these
YT -975¢ H ‘Review’ i €l Gleen JgH shidi 8 ?

(A) HIHZ (B) ¥mgHu™  (C) ®m (D) wash
In DBMS, which of the following is easily modifiable ?
(A) Trigger  (B) View C) Schema (D) Stored procedure
DBMSﬁ%ﬂﬁaﬁqmmr—ﬁé I3 ?
(A) & (B) =1 (C) w=m (D) @ferd gfshan
In a hierarchical model, records are organized as
(A) graph (B) st (C) links (D) tree
Hige | ftehre 38 &9 4 e feham ST 2
(A) T (B) foee (C) fomra (D) &
A computer is a/an device.
(A) Calculating (B) Electronic (C) Electrical (D) All of these
FR_ feamER

I
(A) fehed  (B) sowItM® (C) Soidiea (D) I8 @
In second generation of computers, which type of memory was used to store
data ?

(A) Paper tapes (B) Magnetic drum
C) Magnetic core _ D) Magnetic tape
il o srged § e uml{ﬁﬁé\ﬁwmsw TUE T o foru fepa

JMaT g ?

(A) YR TH (B) #=dihgH  (C) AW &R (D) "W

Which of the following is single user computer with many features and good
processing power ?

(A) Super Computer (B) Micro Computer
%(_Ql Mini Computer (D) Work-Station .
T | hIF T Tehet I HEER 7 s g fomard 37t s1st Jeeehtor Ifth 2 2

(A) FRFIX (B) e F (C) frfi Frger (D) o v
Which type of computer could be found in a digital watch ?

(A) Notebook Computer (B) Embedded Computer
C) Super Computer (D) Mainframe
gt H fohH TR T ShE=Ie U1 Il & 2

(A) AeghFIA (B) TS H (C) R F (D) HAHH
Which functional component of a computer is responsible for the computing ?

(A) CPU (B) Output (C) Storage (D) None of these
TR hT i HT HATHS T %ﬂ%’q{ ?

(A) CPU (B) IM3YL (C) ©ug .(D) 30 | 13 3
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Which of the following registers holds the information before it goes to the
decoder ?
(A) Control register (B) Data register
C) Accumulator (Dl Address reglster
q ﬁ i T7 ot feehist & 94 | Tget IHHR! <l TEar @ 2

(A) F2l TR (B) SRITEX  (C) TRRRA (D) Ugd e

How many units in a single bus structure communicate at a time ?

(A) One - (B) Two C) Three (D) Four
Uehel S8 W1 H fehal ShTgal Ueh WA 1 Hd shidl & ?

(A) T (B) (C) = (D) =
A microprocessor with12 address lines is capable of addressing
(A) 1024 location (B) 2048 location

(C) 4096 location (D) 64 location

12 USH AT TeAT Teh ATSShISTEER fehde LM o qamiyme (Tgfem) daem g 2
(A) 1024T1H  (B) 2048TH  (C) 4096 ™M (D) 64 TN

The software used to drive microprocessor based systems is called

(A) Assembly language (B) Firmware
(C) Machine language code (D) None of these
TTSShISTEER STTUTRA R ohi Tt o foTq S HiTee i el Sl &
(A) UETSA e (B) BHe
(C) u3fi oast i (D) $TH | IS &
The device which helps to communicate with computer is called
(A) input device (B) output device
(C) software device D) Both (A) and (B)
I o Y HATG i H T i dATed %
(A) Y Tearsd (B) ngz
(C) wree feermes (D) (A) 3T (B) G
Mouse is known as
(A) control device (B) gaming device
(C) monitoring device (D) pointing device
HT3Y %l had & .
(A) e fearsd (B) it feamsa
(C) wifefan feamga (D) urg=Ein feamsd
Which is considered a direct entry input device ?
(A) Mouse (B) Digitizer

C) Optical scanner (D) Light pen

T8 Ul Se feames ohat ST & 2

(A) @T3d (B) fesfrerssi

(C) IATEIhet ThT (D) ©Mee U
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Which of the following term is related with scanner ?
1(:!'12)! Cartridge  (B) Media (C) Laser (D) None of these

T 9 :W;’ O HEea g ? .
(A) ®iE= (B) e (€) o (D) &7 & 8 Tl
Bar codes store information using

(A) dots (B) punched holes
(C) thlck and thin llnes (D) All of these

X hIGH ST HUF i o [T SEHTEA &Il &
(A) SteH (B) g B
(C) i uve ofi @ (D) St &l

Which of the following printers cannot print graphics ?
{(‘-rc)[ Dot matrix (B) Daisy wheel (C) Inkjet (D) Laser

et o & 19 TR guT TRl o Hehd & ?
(A) Seuded  (B) S E@ () o (D) K

Which of the following is ‘built in memory’ in computer ?

= 7 & o = e ¥ “feree 37 9w 2 2

(A) EROM (B) RAM (C) ROM (D) PROM
Auxiliary memory is also called
(A) Primary memory (B) Secondary memory

(C) Third memor%_q_ﬁ
(FEreh) wedl <6l Fg Wt el Sl
(A) s asd (B) fgdmsom@t (C) gamawt (D) sifafem wad
Which of the following is optical disk ?
{Q:rrz; ROM (B) Harddisk (C) DVD (D) Register
T H B H A fEmh 7 2

(A) ROM (B) sefem=s  (C) DVD (D) TR
The primary purpose of software is to turn data into
(A) _information (B) programs  (C) objects (Dg charts

1 i Je9d STeT ufafda |
(A) ST (B) Wmmd (C) 3isdiaed (D) =1e™
A mistake in an algorithm that causes incorrect results is called a

(A) logical error (B) syntax error
(C) procedural error (D) compiler error

TGN § Teh TTeTd! Sl TTerd TILOTH <l ST ST
(A) difehs @fd  (B) ®=spm &fd  (C) WiEoRe &fd (D) HHTSeR &fd

Application software is designed to accomplish

(D) Extra memory

(A) real-world tasks (B) gaming tasks

(C) computer-centric tasks (D) operatmg system tasks
TR AT Yof i o6 foru fesme feran Sran & 2

(A) TFa- a—s‘ TEH (B) TifT eres

(C) T hriid Th (D) 3tifen faen eres
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Which of the following is not an application software ?

(A) MS-Word (B) MS-Excel

(C) Abode Acrobat (D) Turbo C-compiler

1 4 | S 91 Uions Hidea? T8l 8 ?

(A) MS-Word (B) MS-Excel

(C) Abode Acrobat (D) Turbo C-compiler

Machine language also referred as

(A) Machine code (B) Object code

(C) Both (A) and (B) (D) None of these
NICEES

(A) T $IE (B) 3ifeaige &I

(C) (A) 3R (B) T (D) T & r$ T

Which of the following i1s/are language processor(s) ?

(A) Assembler (B) Compller (C) Interpreter (D) All of these
9 5 9 % 1 e TEEE

(A) UHER (B) FETTE (C) F=ifirex (D) ¥g &

Which of the following is not a part of operating system ?

(A) Kernel (B) Device Drivers

(C) User Interface (D) None of these

71 5 @ o =1 AT fakew o1 W T B 2

(A) FaA (B) Teams@gEaR (C) TWI<HA (D) FH d His &

To ‘boot’ the system the computer must have a/an

(A) Compiler (B) Loader

(C) Operating System (D) Assembler
¢ U o foTT HrR[eT & Ig 1 =18

(A) EZIEST (B) et

(C) 3rafen fawen (D) THWER

Which one of the following is an external DOS Command ?

91 5 5 & 91 w@Eed SIS FATS & ?

(A) TYPE (B) RD (C) FORMAT (D) TIME

In MS-Windows, Help Menu 1s available at which button ?
MS-Windows H i § S T gcd H 3976 & ?

(A) End (B) Start (C) Turn-off (D) Restart
A collection of inter-related files in a computer is a

(A) File Manager (B) Field (C) Record (D) Database
I H TR FFET-d BISAl o U8 ol had &

(A) ®EATSR (B) $ies (C) Tt (D) =ered
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Which of the following short key in MS-Windows is used for paste ?
NS Windows & 0 & 4 990 81 412 1S 3 e ST i 5 7

(A) Shift + Insert (B) Ctrl+C

(C) Cul+X (D) Shift + End

Which of the following options in MS-Word will be used to change the
word from ‘dear’ to ‘dare’ ?
(A) Spell check (B) Grammar
(C) Find and Replace (D) None of these

H ¥ %9 91 fahcd MS-Word H ¥1s2 ‘dear’ ¥ ‘dare’ H 9ee4 & foTq =
fema ST 2

(A) & = (B) TR

(C) Find 3T Replace (D) T ¥ &g T

Formatting in MS-Word is performed on

(A) text (B) table

(C) Both (A) and (B) (D) None of these

MS-Word H ®HfET foha Siar & . .

(A) T (B) 2w (C) (A)IB)SH (D) FH &P T
Which of the following line spacing is invalid in MS-Word ?

(A) Single (B) Double (C) Triple (D) Multiple
MS-Word H 7+ ¥ & I |1 18- ST 3A{Hd 8 2

(A) THA (B) =5 (€) g (D) =g

Forms that are used to organize business data into rows and columns in MS-
Excel are called
(A) Transaction sheet (B) Registers

(C) Sheet-spreads L !D Spread-sheets

MS-Excel § ufeai 30T qui 4 22T &I FIRIT L & fIu Iwm
feRT ST @Tet B =l &l ST 8

(A) I=Ese (B) orned (C) e-TWew (D) TE-Ie|
Which element(s) of a worksheet can be protected from accidental
modification in MS-Excel ?

(A) Contents (B) Objects (C) _Scenarios (D) All of these
MS-Excel H Seh3fi ST I AT UeliH-e 3TTh ek TeNeH T SXierd 8 2

(A) Hed (B) 3ifssire™  (C) fomnfen (D) 39U Tt

In which tab you will find Autosum button in MS-Excel ?

(A) Formatting tab (B) Standard tab
(C) Clip-boardtab (D) Formulas tab
MS-Excel T & § & | 3TEHHH 24 & 2

(A) ®BETdE (B) ®Wresdd (C) faau-sig dd (D) ®er ¢
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By which command, you can attach another package file in Excel ?

(A) Hyperlmk (B) Object (©) Name (D) Comment
Excel H %9 & HHIUE NI &9 GHU Yohs 15 A€ Hehdl & ?

(A) BTEWE=h (B) 3feolde (C) - (D) HH=E
Which of the following is an active cell in Excel ?

(A) Current cell (B) Formula (C) Range (D) Cell address
Excel A A g s AT ara a8 2

(A) FeFT  (B) R (C) T (D) & UgH
The basic unit of a worksheet into which you enter data in Excel is called a
(A) tab (B) cell (C) box (D) range

Excel H Teh ehufic oh! TSI ST Tore S2T gaf Tohall SITdT &, 3¢ hed &

(A) (B) & (C) drEH (D) &=

A constant is another name for which type of data in Excel ?

(A) number (B) equation (C) formula (D) description
Excel § Th8 YehR o 21 &1 31 910 HIRL< & ?

(A) F&I (B) HHiRT (C) & (D) feawo

In Excel, which is a pre-recorded formula that provides a shortcut for
complex calculations ?

(A) Value (B) Dataseries (C) Function (D) Field
Excel H %IF 91 qd gt A & S SAfeet TUETST o foIu 31 -ahe UG il & 2
(A) T (B) weradi () wH (D) &=

Slide is a feature of

wTTEe TopEeh Aiequ 8 7

(A) MS-Word (B) MS-Excel (C) MS-Access (D) MS-PowerPoint
Which type of software is used to make a slide show ?

(A) Spread-sheet (B) Word processing

(C) Presentation (D) System

wms‘iﬁww%%ﬁﬂﬁ?ﬁwﬁmmm%mm%?
(A) Tesfie (B) @EyEfET  (C) SsesH (D) foreH

Which command shortcut key is used to quit PowerPoint ?

PowerPoint H & €781 Fehete o foTu fore swaTeg Sid—ohe <A1 o1 Wt fomam ST 3 2
(A) Alt+F4 (B) F4
(C) Alt + Shift + F4 (D) F7

Which key on the keyboard can be used to view slide show ?

TATSES 91 ¢@H o foTu Shi-a1g hl hiv =it <hl &1 ITANT BT 2 ?
(A) F1 (B) F2 (C) F5 (D) F10
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97.

98.

99.

100.

101.

102.

103.

Which of the following method can be used to add more tables in a data-
base ?

(A) Design view (B) Table wizard
%(j:; Datasheet view D) All of these _
4 o frg fafa &1 smam i I S H TS o forw femam

AT R ?
(A) fesii=sy  (B) <oefamme  (C) sefiesy (D) @+

The feature that database allows to access only certain records in database is

(A) Forms (B) Reports (C) Query (D) Tables
Teh IRV 511 SeTail § o5 NehTSH ohl T ohid shl 1A ¢ 8

(A) ®mHE (B) fudrew (C) ==l (D) <ecH
Which of the following model store the data in database in object form ?
(A) Network model (B) Hierarchical model

(C) Relational model (D) Object based model
2IeH | S 1 Higd ATesiae BIH H S HUE T ¢ ?

(A) eas Aisa (B) #vfterg Arsd

(C) HEYTcH HISH (D) 3ATsge ETHE HigeA

Which of the following database level is closest to the users ?

%\;)’ External B) Internal (C) Physical (D) Conceptual
ﬁﬁﬁmﬁwmﬁ%a@méﬁ%? ‘
(A) TEEHA  (B) FeEA (C) #ifsser (D) gifo

The separation of the data definition from the program in DBMS is known as

(A) Data dictionary (B) Data independence

(C) Data integrity (D) Referential integrity

DBMS ¥ ST & STeT THHTST 3l 3T i ohi ok &9 H STHT ST & 7

(A) el e (B) ST sf~eurs4

(C) =1l g=¢ufidl (D) THRia 3

Which type of SQL language is used to manage security of database ?

(A) DCL (B) DDL (C) DML (D) All of these
STTeY hl LT 1 THH i b ToTT fohd Tehi ht SQL {THT =hT FRT fohat STt 3 2
(A) DCL (B) DDL (C) DML (D) s+

A relational database developer refers to a record as

(A) acriteria (B) arelation (C% a tuple (D) an attribute
Tsh Feterel ST SaeTqt Ush NehlS o &9 4 fohdl Hefild st & ?

(A) TUCS (B) dsy (C) Zua (D) Toriwan

The method of access which uses key transformation is known as

(A) direct (B) hash C) random (D) sequential
ﬁ@qﬁﬁywﬁmwﬁﬂw&sﬁﬁ%% _
(A) SRR (B) & (C) T=H (D) H&Ta
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112.

113.

How many types of relationships are there in MS-Access ?
MS-Access gﬁn“cﬁ YRR o FEY & ?

(A) 3 (B) 4 (C) 5 (D) 6
What is the extension of saved database in Office Access ?

AT T H STRITd SeTad ohT 1 Ui~ &Il & 2

(A) xls (B) .odb (C) .accdb (D) .bas
Which of the following is not a type of Microsoft access database object ?
%ﬂg‘ Table (B) Form (C) Worksheet (D) Modules
H ¥ M | AISH T THE Se6d 3iieside hl Th &) & ?
(A) <& (B) M (C) Tehaite (D) HigIeH

Which of the following is not a part of table structure in MS-Access ?
(A) Field Name (B) Field Type (C) Primary Key (D) Number of Recor
MS-Access H = | § shiH €1 ¢8c1 TC=H1 1 HFT 181 8 ?

(A) Bleg™  (B) Wiegerd  (C) WAl Foit (D) ThIGH i T&
Which of the following is not a valid data type in MS-Access ?

(A) Memo (B) Currency (C) Picture (D) Auto Number
MS-Access ¥ i | 3T ST TR &l & ?

(A) =i (B) st (C) F== (D) 3l A

In MS-Access, Hyperlink data type can store

(A) Web Address (B) E-mail Address

(C) Pathofa file (D) All of these

MS-Access H BT -cAieh 221 2 HUE Hdl &

(A) 99TgE  (B) 3-HCITGE (C) BRABITY (D) FEEH
Which is the shortcut key to invoke the spell checker in MS-Access ?
MS-Access T TIc T Tl TG i o 1T JMche Holl T8 ?

(A) F2 (B) F7 (C) F3 (D) Alt+ F7

Two or more computers connected to each other for sharing information
form a

A) Network (B) Router Enzgcg; Server ~ (D) Tunnel

T SATET R Teh G %QGJ,@EQ% 9 SHI1d &
(A) e (B) m (C) Tt (D) T
The channel rate of data transmission is measured in
(A) Decibels (B) Hertz (C) Micron (D) Bits per second
BT AT Sl = g AT T | _
(A) =HiEA (B) &S (C) HTEshH (D) foem fd e
Which of the following device is able to share a data in short distance ?

&A) Mlcrowave (B) Bluetooth (C) Satelhte (D) Infrared
=1 o § ShIH |1 39U, DI Gl § A sied o forg amef

(A) WiEshted  (B) wIgd (C) Heetrse (D) FeTH
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If a computer on the network shares resources for others to use, it is called

(A) Server (B) Client (C) Mainframe (D) All of these
fe HZereh T Teh SHFE G o ITANT o foT HETEH] <hl HTEGH] *hidl 8, 38 %ad &
(A) TR (B) W (C) B (D) e &
MAN refers to

(A) Medium Area Network (B) Mega Area Network

(C) Metropolitan Area Network (D) Mini Area Network
MAN %1 Gefiid hdl g ?

(A) wifeam ufan Jeash (B) T U Aeah
(C) ugritferes T Jeeh (D) forft e Seads
CSMA-CD are the protocol of

(A) Bus topology (B) Ring topology

(C) Star topology (D) Tree topology

CSMA-CD Ter&reh SErhlel & ?

(A) =@ Iqest (B) | dmissh

Which network device provide firewall sysi

(D) i Trretrsh

, and prevent unauthorized

access ? .

(A) Ethernet (B) Hub (C)  Gat (D) Router

S HT Zeeh ST IR SV SGH hadl & B 3 2rehd T /T Jehdl & ?
(A) 3 (B) & (C (D) TSR

The common name for a modulator-demodulator is

(A) Networker (B) Joiner (€). Connector: (D) None of these

T T AT 8
(A) e (B) e¥E] o 11 1(€)y @&, || (D) T8 U H1S Ta!
Where does bridge operate in OSI model ?

(A) Physical layer (B) Data-link layer
(C) Both (A) and (B) (D) Application layer
OSI #ige | fsrl &l r=ferd gra & ?

(A) $IfSeret TRR (B) <21 feieh o1

(C) (A) 3R (B) T (D) TwATehaH SRR

IP address can be written in

(A) Binary form (B) Floating point
(C) Dotted decimal notation (D) Hexa decimal

1P ugH fored fer@r ST Eepar 8 7 .

(A) Tgama wu (B) AN Ufg<

(C) T eemeta Hehad (D) BT sfome
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125,

126.

127.

128.

‘Panini’ lived during the

(A) 3" Century BC (B) 4" Century BC

(C) 3" Century AD (D) None of these
qIvH fRE T R 9 7

(A) e s go O (B) =ieff wraredt Sam g
(C) dred) wrdredt § | (D) 399 ¥ IS T
Which is not included in the eight-fold path of Buddhism ?

(A) Right conduct (B) Right desire

(C) Right speech (D) Right contemplation
S G A S FE S o ey 2

Megasthenes was an envoy of which of the following kings ?
(A) Seleucus  (B) Alexander (C) Darius (D) Antiochus
WIES e | G fer TSI o6 TSTgd o1 ?

(A) HeghE  (B) Tt (C) === (D) TA3AHE

Which of the following Sultans had greatest number of slaves in his court ?

(A) Balban (B) Alauddin Khilji

%(_2‘ Mohammad-bin-Tughlaq (D) Firoz Shah Tughlaq
T ¥ ford goTa™ o SR § Ted S 9 H A 9 ?

(A) SeteH (B) AcTHeH Raetsit

(C) FEw forf TTefh (D) fortrsrTe g

Bahadur Shah was the last ruler of which of the following dynasties ?

A) Lodhi (B) Mughal (C) Saiyad (D) None of these

T ¥ TRy a1 o AT AT TEIGEE o ?

(A) @ (B) He (C) &g (D) ¥ & g T

Where was the first cotton mill established in India ?

(A) Surat (B) Mumbai C) Ahmedabad (D) Coimbatore

YA H 96H J8ct hied 0 hal TJ1Id 53 off ?

(A) T (B) (C) ¥EWeEE (D) R

The original name of Swami Dayanand Saraswati was

(A) Mul Shankar (B) Abhi Shankar

(C) Gauri Shankar (D) Daya Shankar

EITHI SIS Sl 1 ol 1 o

(A) TR (B) MR (C) et (D) TATIHL

The East India Association was founded by

(A) V.D. Savarkar (B) C.R.Das
g&) Dadabhai Naoroji (D) DebendranathTagore
HERl) fepereh g Tt feha =T o ?

(A) g gEE(B) ®WLIW. @ (C) TRMETRST (D) 5T 3R
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134.
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Which one of the following writs is issued during the pendency of

proceeding in a court ?

%2’ Mandamus (B) Certiorari  (C) Prohibition (D) Quo Warranto
¥ i H fie, e § S shi dfadadn @ e SR <hl Sl g 2

(A) H=ME (B) @@t  (C) Wil (D) w=&1an=l

Which is not included in the Directive Principles of State Policy ?

(A) Prohibition of liquor (B) Right to work

(C) Equal wage for equal work (D) Right to information

= 5§ & w1 T i o e frgra # e 781 & 2
(A) I =1 Fuy (B) T T AR
(C) T %/ o Tt qam oaH (D) T 1 ATURR

The President of India can be impeached by the

(A) Lok Sabha (B) Parliament
(C) Chief Justice of India (D) None of these
W o Tgafer i forereh gr STt forem < wehat 2 2
(A) <RI (B) ©&g

(C) YR o H& =ATAefisT (D) 3TH | HIg &1
Who was the first woman in the world to become the Prime Minister of
country ?

(A) Margaret Thatcher (B) Indira Gandhi
(C) Sirimavo Bhandharnaike (D) None of these
<91 1 THHEET S aTeft fava shi gom afgen b off ¢

(A) HATRE &= (B) sfeu et
(C) sfmme WerATSHh (D) 3T & IS &

The largest (area-wise) Lok Sabha Constituency in India is
(A) ﬁKg;l_gra (B) Laddakh (C) Kachchh (D) Bhilwara

WA 3 T w1 (foear S1HR) SAehaT 1 g1 & 3

(A) hITST (B) ©iq@ (C) = (D) Hierarer

Which of the following is not a Panchayati Raj Institution ?

(A) Gram Sabha (B) Gram Panchayat

1(_"(_2’ Panchayat Samiti 0 (D) Gram Co-operative Society
U ¥ M A T=R TS S TR 8 2 .

(A) W& (B) U™ U=

(C) v=mga |fufd (D) T I-ATRIeT TE=E

Sundarbans of Eastern India is an example of

(A) Forest Ecosystem (B) Mangrove Ecosystem

(C) Grassland Ecosystem (D) Marine Ecosystem

WA o il &1 o Gata 3Ta & .

(A) o uTiEs (B) HaE TR

(C) =T % HgH T ITia= (D) EHI qTia=
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141.

142.

143.

The Green Revolution in India has contributed to

(A) Inter-regional inequality (B) Inter-crop inequality

(C) Inter-class 1nequallt (D) All of these

e i 70 7 3 e e 2

(A) am%sﬁﬂ (B) 3oL hIT 1A

(C) T FA™ HAHHAT (D) 3wt &t

Which of the following is not an immediate indicator of industrial sickness ?

(A) Drop in profitability (B) Labour unrest

%r:)! Shrinking of market credit (D) Decline in market share
T ¥ I ©1 ST T <6l deehlc] G T8l & ?

(A) w9Yedt ¥ firee (B) 1 3rmfd

(C) Hhe hiee i e (D) WTehe S & T

Encouraging more multinational companies in India is to promote the policy of
(A) Globallsatlon (B) leerahsatlon (C) Privatisation (D) All of these

WA H SAfereh SO Hafai bl Siedfed w1 fifer b e e R |
(A) dvfimm (B) Iedem () P (D) Swied @t
FDI refers to

(A) Fixed Deposit Interest (B) Fixed Deposit Investment
(C) Foreign Direct Investment (D) None of these

FDI Tef¥d &tar 8

(A) e fedifie st (B) Hreres feuisiic gawi=

(C) RA SRR SeH~< (D) 9 9 1g &1

The EXIM Bank of India was established in

Y 1 EXIM st €1f <6l 18 off

(A) 1964 (B) 1976 (C) 1980 (D) 1982

The tax on import and export is known as
(A) Income Tax (B) Trade Tax (C) Custom Duty(D) Excise Duty
T - frfd % ol had 8

(A) FH  (B) TR (C) ®AgIS (D) uFETss §xdl
Which of the following is the longest river in world ?
%n:)' Amazon (B) Nile (C) Mississippi (D) Danube
o o o fova 1 gad 91 71 § 2
(A) S (B) & (C) fEifeft (D) =@
Doldrums is a
(A) Tropical wind belt (B) Sub-tropical wind belt
(C) Tropical wind deflection belt (D) None of these
(A) Iwrhieaefid g1 o see (B) 39S BT o See

(C) Iwrhfeaefa g fa@muisee (D) 398 A IS &



144. Which instrument is used for measuring humidity of atmosphere ?
(A) Barometer rnq% Anemometer (C) Thermometer(D) Hygrometer
STATEROT <hl FH1 &l o foTu forg T4 &7 SAHTA BIAT 8 2

(A) SqHreR (B) UAHTHIX (C) wHHie (D) BRI

145. Atacama desert is in

(A) Africa (B) North America
(C) South America (D) None of these
3TTeTehT TR fora 2

(A) 3ThTehT (B) 3T 3wl (C) <féqor 3mdiest (D) 370 | &I8 T8l

146. Which of the following rivers does not originate in Indian Territory ?

1(3.1-:; Brahmaputra (B) Mahanadi (C) Ganga (D) Satluy
ﬁ@faﬁq‘eﬁqﬁwﬁ% &9 3§ A T Bl & 2
(A) ST (B) HEwC (C) T (D) &S

147. Raniganj coal field is in
(A) Bihar (B) Odisha (C) West Bengal (D) M.P.
TR et &5 8

(A) fe=r (B) afifsam (C) UM sme (D) HeIueH

148. Tarapur nuclear station is located in
(A) Maharashtra (B) Odisha (C) Uttar Pradesh (D) Tamil Nadu

(A) WENIE (B) 3fifeam (C) Suwew (D) diuerTg
149. Dry farming in India is extensively practised in

(A) Deccan Plateau (B) Ganga Plains
(C) Coromandal Plains (D) None of these

A 8 78 BT T e Tl 2 | |

(A) gl wer (B) T AGH  (C) himed dqH (D) $H & I T8
150. X-rays are streams of

(A) Electrons (B) Photons (C) Protons (D) None of these

X -Tetul fepureht I 8 7 .

(A) ERE  (B) B (C) W= (D) 378 & 1S TE

151. Colours of thin films are due

(A) dispersion of light (B) interference of light
(C) absor%tlon of hght (D) scattering of light
(A) mmtﬂ’{%w (B) JehTST Sl SAfaehTul
(C) TIShIST T TN (D) TS ST JehivH
152. Insulin is secreted from
(A) Pancreas %B) Liver (C) Thyroid (D) Adrenal Gland
<hl €1d

(A) F=RE (B) IHd (C) Yriss (D) ulgae ufy
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158.

159.

160.

Beri-beri is caused due to

(A) Vitamin A %3) Vitamin B (C) VitaminC (D) Vitamin D
S -ol gH 6 I

(A) foefimA  @B) feafmB  (C) faaf@c (D) faaf@D

Litmus 1s obtained from

(A) Bacteria B) Fungi (C) Algae (D) Lichen
fotens femem @ T %’rﬂ g7

(A) SEFAf@En (B) FAE (C) =T (D) wTEHA

Which district has become the India’s first district to have 100% solar
powered health centres ?

(A) Kolkata (B) Chennai (% Bengaluru (D) Surat
I |1 W o1 Tgelt foret 2 fes 100% W%aﬁaﬁw%% ?
(A) FTHA  (B) =% (C) =Tee (D) T

Which campaign has been launched by WWF-India at the 12" edition of
Earth Hour 2018 ?

(A) Give up to Give Back (B) Save Earth for Future

(C) Connect to Earth (D) Nature Calling You, Listen !
WWF-TRA g 3724 -37a% 2018 % 124 TEh0T W <hiF A1 3R I[E fohan T g 2
(A) e 31q 2 ifig s (B) ©a 31 BR R

(C) a3 (D) =R whieti g, fore !

Which Indian sportsperson has won the 2018 Asian Billiards
Championships ?

(A) Subhash Agarwal (B) Manan Chandra

(C) Pankaj Advani (D) None of these

S ¥ WA Rgerst 9 2018 ThrA <A Sfar 2 2

(A) 9u™ 3E (B) A 95 (C) Ul 3T8aH! (D) 3TH | I T8l
The world’s longest sandstone cave has discovered in which state of India ?
(A) Meghalaya (B) Karnataka
(C) Arunachal Pradesh . (D) Mizoram
Y o Topd T 1 fova <1 Hed el o131 e %1 @ISt T 8 2
(A) HETeE (B) Alch (C) 37&v=el wew (D) forsrm
As ‘Bald’ is related to ‘Blond’, in the same way, ‘Barren’ is related to
A) Vegetation (B) Farm (C) Fertile (D) Inhibited
TG, I’ | Fatod 2 3H a8 ‘Tor’ fhod gefa g 7
(A) & (B) @d (C) 3IuSTH (D) IFeY
In the English alphabet, which letter is 10" from right ?
FTST FUHTeT | grRff &1L & 1097 hiF a1 avi g 2
(A) P B) Q (C) R (D) S



161. Who was the first Chief Minister of Himachal Pradesh ?

(A) Dr. Y.S. Parmar (B) Thakur Ram Lal
(C) Shanta Kumar (D) None of these
feuTeret UeuT < el g BiF 9 2
(A) €. 9M™.TH. THR (B) STHL THATA
(C) =M= $HR (D) ¥ ¥ I3 T&
162. The total geographical area of Himachal Pradesh is
(A) 55073 sq. km. (B) 55373 sq. km.
(C) 55673 sq. km. (D) None of these
feuTael Y %1 Hol MTiToTeh foam 8
(A) 55073 = foh.H. (B) 55373 =i fer 1.
(C) 55673 =t fo. 4. (D) 0 T Hig A&
163. The headquarters of Lahaul & Spiti is
(A) Kaza (B) Kalpa (C) Keylong (D) Pangi
AT 3R feufd o1 gerer 7
(A) T (B) shedT (C) haAM (D) Wt

164. Guma and Darang are famous for
(A) Rock Salt (B) Gypsum (C) Limestone (D) Slate
AT 37 BT foheeh fou wfag & 7
(A) Usd@ee  (B) fSwm (C) @EH-TH (D) Wk

165. He is not familiar this locality.

(A) to (B) from (C) about (D) with
166. Antonym of the word ‘Vindicate’ is

(A) Censure (B) Favour (C) Indicate (D) Eradicate
167. Meaning of the idiom ‘By fits and starts’ is

(A) irregularly (B) mostly

(C) after a short time (D) regularly
168. T I B

(A) W& (B) g (©) fe (D) =t
169. withd & wom &

(A) ey (B) dcgew ©) %3 (D) wesiife

170. FS=eh Iu|T 9 81 o fu Uk vIsc 3 ‘
(A) FERE (B) 31w (C) 3T (D) 3 & I &



KEY SET C-449{COMPUTER OPERATOR (POST CODE-592)} SERIES-A

e 2uid wd sl SR @oft (Provisional Answer Key) R 12.05.2018 @1 amaifem
COMPUTER OPERATOR, POST CODE-592 @t we+l udlen 9 wwafxa 2| af snafeial &t
SR Hll @ WeW H HE R 81, @ 9 faRaa weat (Documentary proof) & e AT srte
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1 A 35 B 69 A 103 B 137 D
2 A 36 C 70 A 104 A 138 D
3 B 37 B 71 A 105 C 139 C
4 D 38 3 12 D 106 C 140 D
5 D 39 B 73 C 107 D 141 €
6 L 40 D 74 D 108 C 142 B
7 D 41 B = D 109 D 143 A
8 B 42 B 76 C 110 B 144 D
9 C 43 B 77 C 111 A 145 -
10 B e D 78 B 112 D 146 A
11 A 45 A 79 D 113 B 147 C
12 C 46 C 80 A 114 A 148 A
13 A 47 B 81 C 115 C 149 A
14 D 48 D 82 C 116 A 150 A
I5 D 49 C 83 C 117 c 151 B
16 D 50 D 84 D 118 D 152 A
17 D 51 B 85 D 119 B 153 B
18 D 52 C 86 D 120 C 154 D
19 C 53 D 87 A 121 D 155 D
20 A 54 B 88 A 122 B 156 A
2] C 55 A 89 B 123 A 157 C
22 D 56 B 90 A 124 D 158 A
23 A 57 B 91 ® 125 B 159 C
24 D 58 C 92 D 126 B 160 B
25 D 59 A 93 C 127 A 161 A
26 D 60 D 94 A 128 c 162 €
27 D 61 D 95 C 129 B 163 C
28 A 62 D 96 D 130 D 164 A
29 D 63 C 97 C 131 B 165 D
30 D 64 C 98 D 132 C 166 A
31 D 65 B 99 A 133 B 167 A
32 A 66 B 100 B 134 D 168 B
33 D 67 B 101 A 135 B 169 B
34 & 68 P 102 C 136 D 170 B




